Klippans BK

Barometer-Féranmalan-Max 14 par 2020-10-08 SCRATCH
Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.
Plac Par Poang % Namn MID Klubb
1 14 186.0 64.58  Berit Andersson - Ingmar Kramer 5880 50998 Klippans BK
2 8 166.0 57.64  Andreas Johansson - Gerry Jonsson 24913 27020 Munka Ljungby BS
3 2 164.0 56.94  UIf Andersson - Marianne Wigrup-Andersson 5436 21717 Munka Ljungby BS
4 7 155.0 53.82  Ingrid Olsson - Gunnel Mansson 5895 88774 Klippans BK
5 9 154.0 53.47 Jan-Inge Tuvesson - Lena Tuvesson 33922 64009 Munka Ljungby BS
6 3 151.0 52.43 Borje Ivarsson - Lena Vinberg 5884 48981 Klippans BK - Ej medlem
7 10 149.0 51.74  Rune Gustafsson - Hans Nilsson 5902 26592 Klippans BK
8 5 145.0 50.35 Vanda Nordstréom - Karl-Géran Nordstrom 48979 41032 Klippans BK
9 4 143.0 49.65 Aina Paulsson - Berit T6nnemo 59959 60934 Klippans BK
10 1 141.0 48.96  Michal Wachalski - Karla Méller 46225 60569 Klippans BK
11 11 124.0 43.06 Lars Haggquist - Eivor Viebke 56697 27712 Klippans BK
12 13 116.0 40.28 Eva Paulsson - Gunilla Lundstrém 30183 48977 Klippans BK
13 6 115.0 39.93 Ingela Hall - Bertil Stigsson 68112 68115 Klippans BK
14 12 107.0 37.15  Siw Sonne - Karin Lindberg 60931 60932 Klippans BK
1 4 KKn7632 Basta kontrakt 2 «E107 Basta kontrakt 3 4 KKn1052 Basta kontrakt
Nord vK8 54 N D -1-100 Ost vE975 INT S =2220 Syd v98 4% S =130
Ingen ¢+ Kn NS ¢ E ov * K7
#K854 & ¢ v & NT #ED863 & ¢ v & NT 2K976 & ¢ v & NT
4 E985 « D104 N 106 2 6 7 486 4 D52 N 1310121313 4D974 4 E86 N 107 6 8 8
vE742 vD10953 S 106 2 6 7 v D102 v 643 S 1310121313 v75 v KDKn64 S 107 6 8 8
+D10974 ¢ E2 O3 6 107 6 ¢ Kn9872 ¢ K1054 003100 ¢ D104 #9632 035655
L #Kn32 V 3 6 107 6 #1072 #Kn94 V03100 #Kn542 &E V35655
.- & KKn943 43
v Kn6 v KKn8 vE1032
+ K8653 + D63 + EKn85
#ED10976 *K5 «D1083
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 2 3#S+l ¢4 130 11.0 10(14 7 64 S+1 ¢J 1460 120 00| 4 11 2v O-2 43 200 11.0 10
14 7 44 S= s A 130 11.0 10| 1 8 64 S= ¢2 1430 90 30|13 6 1vO-2 43 200 11.0 10
4 11 34 S= a5 110 80 40| 9 2 64S= ¢2 1430 90 30| 1 8 44N= vK 130 8.0 40
1 8 54S-1 s A -50 40 80| 3 10 54 S+1 T 680 50 70| 3 10 24 N= *A 110 40 8.0
3 10 3NS-1 *T -50 40 80| 4 11 44 S+2 v2 680 50 70| 9 2 3aN-= vK 110 40 8.0
12 5 54S-1 +Q -50 40 8.0[13 6 3NS+2 2 660 20 100(14 7 3#S= v7 110 40 8.0
13 6 24 N-2 v3 -100 0.0 120(12 5 4vyN-1 ¢5 -100 0.0 120(12 5 1vO= ¢ A -80 0.0 12.0
4 465 Bésta kontrakt 5 #9742 Bésta kontrakt 6 4 D743 Bésta kontrakt
Vast vE874 2¢ N =90 Nord v 62 34 N =140 Ost v Kn87 INT O =-90
Alla ¢ E2 NS ¢ D542 ov +82
#EK854 & ¢ v & NT #K83 & ¢ v & NT #K963 & ¢ v & NT
4E742 #KKn8 N78777 DKn 4 863 N6 97 98 4KKn1085 46 N657 66
v9652 vKD3 S78777 vKn10954 vE3 S6 97938 vK4 vD1065 S657 66
+ 86 ¢ K543 06 456 6 ¢ K93 ¢ Kn87 O7 46 45 ¢+ KD3 49654 O7 7667
D62 #Kn93 V64566 #1074 #ED965 V74645 #Kn108 #E754 V77€6¢67
4 D1093 & EK105 4 E92
vKnl0 v KD87 v E932
+ DKn1097 +E106 + EKn107
%107 #Kn2 «D2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 10 2v V-2 ¢ A 200 120 00| 3 9 INS+1 T 120 120 00| 8 2 INS= %] 90 12.0 0.0
14 7 1vy N+2 &9 140 100 20|11 5 INV-2 2 100 100 20|12 6 INS-1 a5 -50 10.0 2.0
4 11 1y N+1 438 110 70 50| 4 10 240-1 &A 50 70 50| 4 10 INO= *T -90 8.0 40
12 5 24 N+1 ¢4 110 70 50| 8 2 INO-1 4A 50 70 50| 1 14 2NN-2 &4 -100 40 8.0
1 8 INN= 3 90 30 90|13 7 INS-1 »T -100 40 80| 3 9 INS-2 a5 -100 40 8.0
13 6 INN= vK 90 30 90|12 6 44 N-2 &5 -200 20 10013 7 INS-2 a5 -100 40 8.0
9 2 24N-1 &3 -100 0.0 120| 1 14 INS-3 vlJ -300 0.0 120(11 5 2NS-3 s] -150 0.0 12.0
7 oK Basta kontrakt 8 # EKn83 Basta kontrakt 9 » E10852 Basta kontrakt
Syd v EKD94 ANT S =630 Vast v75 34 ND-1-100 Nord v D96 2NT O =-120
Alla + D973 Ingen + Kn9863 ov + Kn8
#EK3 & ¢ v & NT «D6 & ¢ v & NT #Kn85 & ¢ v & NT
4Kn752 49643 N 7 10108 10 497 & D542 N59 486 4 K73 « D96 N75675
v8732 v5 S 7 10108 10 vKD104 vE8632 S59 486 vE3 v Kn8542 S75675
¢+ E6 ¢ K105 06 3232 ¢ 742 +D 07 4954 ¢+ E10764 D9 06 87 6 8
#Kn72 #D10865 V63232 #K952  #E87 V74954 #KD10 %742 V68768
4 ED108 4 K106 +Kn4
v Kn106 v Kn9 v K107
+ Kn842 + EK105 + K532
*94 #Kn1043 #E963
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
3 9 4v N+1 &8 650 100 20|11 5 4v0O-1 +A 50 120 00(14 2 3v0O-3 &J 300 12.0 0.0
8 2 4v N+1 5 650 100 20| 1 14 4¢ N-1 YA -50 100 20| 1 13 2v V-1 a2 100 9.0 30
12 6 4vy N+1 &5 650 100 2012 6 2v 0= ¢ A -110 80 40|11 6 INV-1 a5 100 9.0 30
1 14 3NN+1 &6 630 40 80| 4 10 2v O+1 +A -140 40 80|12 7 2v V= +J -110 6.0 6.0
11 5 3NN+1 &5 630 40 80| 8 2 3vO0O= ¢ A -140 40 80| 3 8 2NV= a5 -120 40 8.0
13 7 3NN+1 &5 630 40 8.0(13 7 2vO+1 +A -140 40 80| 4 9 2vV+1l a2 -140 1.0 11.0
4 10 4v N= *6 620 0.0 120 3 9 24 N-3 ¢Q -150 0.0 120(10 5 2¢vV+1 ¢J -140 1.0 11.0
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10 443 Basta kontrakt 11 4 Kn63 Basta kontrakt 12 4942 Basta kontrakt
Ost v ED10972 34 O =-140 Syd v K752 4ANT S =430 Vast v Kn10962 4¢ V D -3500
Alla +94 Ingen + EKKn96 NS +E
#ED9 & ¢ v & NT &D & ¢ v & NT #ED86 & ¢ v & NT
4 ED10872 4 K96 N87 9 46 « K1098 #E52 N 10109 8 10 4D10853 «K N859 89
v64 vK5 S87 946 v 83 v EKn106 S 10109 7 10 v74 vEDS8 S859809
+ K83 ¢ Kn1075 046397 ¢85 ¢ 7432 033453 + Kn8532 ¢ D976 O57 45 4
*62 #Kn854 V46397 #76542 #Kn8 V33453 &K #Knl0954 V 5 7 4 5 4
& Kn5 4 D74 4 EKn76
v Kn83 v D94 v K53
+ ED62 + D10 + K104
#K1073 #EK1093 »732
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 5 4v N= s K 620 120 00| 3 8 3NN+2 42 460 11.0 10(14 2 3v N= *] 140 12.0 0.0
4 9 44 V-2 *A 200 90 30(10 5 3NN+2 v6 460 11.0 10(12 7 2v N= *] 110 100 2.0
11 6 2¢v N+3 ¢7 200 9.0 30(14 2 2NS+3 «9 210 80 40| 4 9 24V-1 *A 50 70 5.0
1 13 3v N= 46 140 6.0 60 4 9 2NS+2 a9 180 60 6011 6 3¢ 0-1 ¢¥K 50 70 5.0
3 8 4vy N-1 K -100 30 90| 1 13 4v N-1 A -50 20 100| 1 13 24 S-1 *K -100 2.0 10.0
14 2 4v N-1 &K -100 30 90|11 6 3NS-1 aT -50 20 100 3 8 4y N-1 &J -100 2.0 10.0
12 7 24 V= vA -110 0.0 120(12 7 2vy N-1 #J -50 20 100({10 5 4vy N-1 &J -100 2.0 10.0
13 & K962 Bésta kontrakt 14 4 E32 Bésta kontrakt 15 4 Kn72 Bésta kontrakt
Nord vEK 5& O D -2 500 Ost v Kn10532 44 O =-420 Syd v EKn 34 S =140
Alla + EKn10542 Ingen + Kn1064 NS + ED10742
*9 & ¢ v & NT &K & ¢ v & NT 294 & ¢ v & NT
« DKn3 10 N 3 9 5 106 2104 4DKn9865 N 2 4 8 3 4 » E964 oK N 4 109 9 8
v5 vD1087632 S 3 9 5 106 vYE74 v- S 24834 v 1076 vKD2 S 4 108 9 8
+ KD9 + 86 09 3837 ¢ EK72 +D8 O 109 5 109 495 ¢ Kn86 08 3435
#EKD653 #Kn104 V93837 #9632 #EDKn85 V 109 5 109 #DKn103 #K87652 V83435
« E8754 & K7 «D10853
v Kn94 v KD986 v 98543
*73 4953 + K3
»872 #1074 &E
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 8 3NV-2 a2 200 11.0 10| 4 8 640-1 +8 50 120 00| 1 12 24 S+1 #Q 140 11.0 1.0
9 5 54DV-1 v¥K 200 11.0 10(10 6 24 O+1 ¥K -140 100 20| 9 5 34 S= +9 140 11.0 1.0
10 6 34 S+1 #A 170 80 4011 7 3#0+2 9 -150 80 40| 3 14 4¢ N= *6 130 7.0 5.0
11 7 34 S-= v5 140 6.0 60| 1 12 24 O+3 8 -200 6.0 6.0(10 6 2¢ N+2 &K 130 70 5.0
3 14 4v O-1 &A 100 30 90| 9 5 3NV= v2 -400 40 80|11 7 44 0-1 43 50 40 8.0
13 2 4v O-1 &A 100 30 90| 3 14 44 0= *4 -420 20 100 4 8 3#0= +3 -110 1.0 11.0
1 12 44 S-3 *A -300 0.0 120(13 2 44 O+1 vK -450 0.0 120(13 2 3#0= +3 -110 1.0 11.0
16 « ED1054 Basta kontrakt 17 4 Kn103 Basta kontrakt 18 453 Basta kontrakt
Vast v92 2NT N =120 Nord v Kn43 3v O =-140 Ost v 1065 44 O =-420
oV 47654 Ingen + 1065 NS + EKD953
*E6 & ¢ v & NT #EKN75 & ¢ v & NT *K7 & ¢ v & NT
4986 & Kn72 N7 6 6 6 8 « E94 485 N6 3373 « EKKn86 4 D92 N556 34
v8 vEKn76543 S 7 6 4 6 8 vK1095 D82 S6 3373 v D874 vK S556 34
¢ EKKN982 ¢ - 057755 ¢ DKn ¢ EK9832 079967 ¢ Kn4 ¢ 108762 08 8 7 109
#KD3 #1054 V57755 #K832 #109 V799867 #Kn10 #ED63 V77 6 109
4 K3 4 KD762 41074
vKD10 vE76 v EKn932
+ D103 *74 .-
#Kn9872 +D64 #98542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 8 4v O-3 43 300 120 00| 3 13 2NV-1 s 50 11.0 10 9 6 24 V-1 + K 50 120 0.0
10 6 3¢ V-2 *A 200 90 30| 8 5 2NV-1 L) 50 11.0 10| 8 5 24V= + K -110 10.0 2.0
13 2 3v0-2 &3 200 90 30| 9 6 24S-1 +Q -50 70 50| 3 13 24 V+1l ¢A -140 70 5.0
1 12 3vO0-1 «K 100 50 70(10 7 24S-1 +Q -50 70 50| 4 14 34 V= *A -140 70 5.0
3 14 3v0O-1 A 100 50 70| 1 11 34S-2 +Q -100 40 8.0(12 2 2NV+1 +A -150 40 8.0
9 5 44 N-1  &T -50 10 11.0|12 2 2¢ O+1 42 -110 20 100( 1 11 24 V+2 +A -170 2.0 10.0
11 7 3v N-1 «K -50 1.0 110| 4 14 3vO= *A -140 0.0 120({10 7 3NV+1l <A -430 0.0 12.0
19 454 Bésta kontrakt 20 & K107 Bésta kontrakt 21 4 E10 Bésta kontrakt
Syd v 873 3v S =140 Vast v 108752 2NTV =-120 Nord v KKn983 4v N =620
oV + D32 Alla + D54 NS 4852
#EKDKnN3 & ¢ v & NT *97 & ¢ v & NT #1082 & ¢ v & NT
4 ED732 4Kn9 N7 486 8 4DKn83 & E2 N4 4755 a5 &« D7432 N7 7 108 9
vyKDKn v96 S85 96 8 vKn4 vE93 S436054 vED104 5 S 7 7 108 9
+ K985 ¢ Knl076 05847 4 ¢ Kn987 ¢ E102 09 96 7 8 +Kn1093 ¢ D764 06 6 342
*4 109852 V58474 *K42 #DKn1086 V 9 9 6 7 8 #Kn953 #E64 V56342
» K1086 #9654 » KKn986
v E10542 vKD6 v 762
¢ E4 + K63 ¢+ EK
»76 #E53 *KD7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 5 3vS+l #4 170 120 00| 9 6 3NO-3 45 300 120 00| 1 10 3NN+1 43 630 120 0.0
10 7 2vS+1 ¢5 140 100 20| 1 11 1a S= *K 80 100 20| 8 6 3NN= *A 600 100 2.0
1 11 3¢ V-1 *A 100 80 40| 3 13 INO+1 #4 -120 6.0 6.0 3 12 2NS+1 %6 150 70 5.0
3 13 4v S-2 s A -100 50 70 8 5 2NO= 45 -120 6.0 6.0 4 13 2NS+1 3 150 70 5.0
9 6 4vS-2 +8 -100 50 70(10 7 INO+1 46 -120 60 60| 9 7 24S= *J 110 3.0 9.0
12 2 3¢ V= *A -110 20 100( 4 14 INO+2 v6 -150 20 100(11 2 24 S= +J 110 3.0 9.0
4 14 54DN-4 &) -800 0.0 120(12 2 3NO+1 &5 -630 0.0 120(14 5 4vy N-1 +6 -100 0.0 12.0
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22 41062 Basta kontrakt 23 4752 Basta kontrakt 24 4 EDI10 Basta kontrakt
Ost v Kné 44 O =-620 Syd v873 2NT S =120 Vast v K76 3NT N =400
ov +E84 Alla +8 Ingen + D54
#Kn10985 & ¢ v & NT #DKn8764 & ¢ v & NT #10852 L Y
& D753 « EK84 N6 6 2 24 4 K106 « D983 N9 5857 & K5 49863 N 109 6 9
vE107532 vD4 S66 224 v ED65 v102 S95858 vEDKn42 10985 S 109 6 9
*7 ¢ Kn1092 O 6 7 10108 ¢ Kn1063 ¢ 97542 04857 4 4963 ¢ K82 03374
&D4 &E72 V 6 7 10108 #92 &E5 V48574 &EK3 &74 V3374
& Kn9 & EKn4 & Kn742
v K98 v KKn94 v3
+ KD653 ¢+ EKD ¢ EKn107
#K63 #K103 #DKn96
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 12 2v V= A -110 110 10| 8 6 3NS+1 ¢3 630 11.0 10| 3 12 24 S= vA 110 12.0
4 13 1a O+1 &6 -110 11.0 10| 9 7 3NS+1 ¥5 630 11.0 10| 1 10 3v V-1 & A 50 8.0
1 10 34 0+1 +¢Q -170 70 50| 1 10 3NS= *J 600 70 50|11 2 INV-1 v6 50 8.0
8 6 24 0+2 K -170 70 50| 4 13 5#S= vA 600 70 50|14 5 3vV- &5 50 8.0
14 5 24 O+3 +¢K -200 40 80| 3 12 2NS+3 v6 210 40 80| 9 7 1lvVv= &5 -80 4.0
9 7 5¢DS-3 vA -500 20 10014 5 2NS+1 +J 150 20 100| 8 6 1lvV+l &5 -110 20 1
11 2 464 O+1 &3 -650 0.0 12011 2 4vS-2 &9 -200 0.0 120| 4 13 1v V+2 ¢4 -140 00 1
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